Icc vs Fosc

Prepared on: November 11, 2003
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The mentioned value is only for your reference. The value is for the arbitrary samples and
does not guarantee the product's characteristics.




Current Dissipation Data

Prepared on : October 1, 2000
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16.0
15.0 f
14.0
13.0
12.0
11.0
10.0
9.0
8.0
7.0
6.0
5.0
4.0 —
3.0 —
2.0

- Active(high-speed)mode

- Active(medium-speed)mode(p OSC/8)

Active(medium-s eed mode(p OSC/64)
Sleep(high-speed)mode

— Sleep(medium-speed)mode(¢@ OSC/8)
— Sleep(medium-speed)mode(p OSC/64)

lcc [MA]

0.0 | | | | |

The mentioned value is only for your reference. The value is for the arbitrary samples and
does not guarantee the product's characteristics.




Current Dissipation Data

Prepared on : October 1, 2000

Current Dissipation
Fosc = 8MHz
Ta = 25 degrees Celsius
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The mentioned value is only for your reference. The value is for the arbitrary samples and
does not guarantee the product's characteristics.




Current Dissipation Data

Prepared on : October 1, 2000

Current Dissipation
Fosc = 10MHz
Ta = 25 degrees Celsius
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The mentioned value is only for your reference. The value is for the arbitrary samples and
does not guarantee the product's characteristics.




Current Dissipation Data

Prepared on : October 1, 2000

Current Dissipation
Fosc = 16MHz
Ta = 25 degrees Celsius
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The mentioned value is only for your reference. The value is for the arbitrary samples and
does not guarantee the product's characteristics.




